
 
 

 
 
 
 
 

STATISTICS WORK SHEET  
 

1. The S.S.L.C Public Examination result of a school is as follows: 
 

Result Passed in 
first class 

Passed in 
second class 

Passed in 
third class 

Failed 

Percentage 
of Students  

25% 35% 30% 10% 

 Draw a pie chart to represent the above information. 
 gs;sp ,Wjpg; nghJj;Njh;tpy; (S.S.l.C) xU gs;spapd; Njh;T  KbTfs; 
 gpd;tUkhW nfhLf;fg;gl;Ls;sJ.  
  

Njh;T 
KbT 

Kjy; tFg;gpy; 
Njh;r;rp  ngw;Nwhh; 

,uz;lhk; 
tFg;gpy; 
Njh;r;rp 
ngw;Nwhh; 

%d;whk; 
tFg;gpy; Njh;r;rp 

ngw;Nwhh; 

Njh;r;rp 
ngwhNjh

h; 

khzth;f
spd; 
rjtPjk;  

25 35 30 10 

 Solution 

 Central angle for a component = 360
100

Percentagevalueof thecomponent
   

 We may calculate the central angles for various components as  follows: 
Result Percentage of students Central angle 

Passed in first class 25% 25
360 90

100
    

Passed in second 
class 

35% 35
360 126

100
    

Passed in third 
class  

30% 30
360 108

100
    

Failed  10% 30
360 36

100
    

Total 100% 360° 

 
 Clearly, we obtain the required pie chart as shown below:  
  SSLC Public Examination Results 



 

    
 

2. Find the mode for the following frequency table 
 

Wages (ì) 250 300 350 400 450 500 

Number of Workers 10 15 16 12 11 13 
gpd;tUk; epfo;ntz; gl;baYf;F KfL fhz;f.  
$yp (ì ) 250 300 350 400 450 500 
njhopyhsh;fspd; 
vz;zpf;if  

10 15 16 12 11 13 

  
Wages (ì ) Number of workers  

250 10 

300 15 

350 16 

400 12 

450 11 

500 13 

 We observe from the above table that the maximum frequency is 16. The 
 value of the variate (wage) corresponding to the maximum frequency 16 is 
 350. This is the mode of the given data. 
 

3. The mean mark of 100 students was found to be 40. Later on, it was found 
that a score of 53 was misread as 83. Find the correct mean corresponding to 
the correct score. 
100 khzth;fspd; kjpg;ngz;fspd; ruhrhp 40 vd;W fzf;fplg;gl;lJ. gpd;G> 53 
vd;w kjpg;ngz; 83 vd;W jtWjyhf vLf;fg;gl;lJ njhpate;jJ. rhpahd 
kjpg;ngz;fisf; nfhz;L rhpahd ruhrhpiaf; fhz;f.  
Solution 

Given that the total number of students n = 100, x  = 40. So, 
 Incorrect 40 100 4000x x n      

 Correct x  = Incorrect x  - wrong item + correct item. 

   = 4000 - 83 + 53 = 3970 



 

 Correct x  = 
correct x

n

  

   = 
3970

39.7
100

  

 Hence the correct mean is 39.7. 
 

4. From the following table compute arithmetic mean by direct method. 

Marks  0- 10 10-20 20-30 30-40 40-50 50-60 

No.of students  5 10 25 30 20 10 
fPo;f;fhZk; tptuj;jpw;F Neub Kiw %yk; ruhrhpiaf; fhz;f.  
 
kjpg;ngz;fs;  0- 10 10-20 20-30 30-40 40-50 50-60 
khzth;fspd; 
vz;zpf;if  

5 10 25 30 20 10 

 
Solution:  

Marks Midpoint (x) No.of 
Students (f) 

fx 

0 – 10 5 5 25 

10 – 20 15 10 150 

20 – 30 25 25 625 

30 – 40 35 30 1050 

40 - 50 45 20 900 

50 – 60 55 10 550 

  100f   3300fx   

 

  
3300

33
100

fx
x

f
  



 

  Mean = 33  
 

5. The weight (in kg) of 13 students in a class are 42.5, 47.5, 48.6, 50.5, 49, 46.2, 
49.8, 45.8, 43.2, 48, 44.7, 46.9, 42.4. Find the range and coefficient of range. 
xU tFg;gpYs;s 13 khzth;fspd; vil (fp.fp) gpd;tUkhW. 42.5, 47.5, 48.6, 
50.5, 49, 46.2, 49.8, 45.8, 43.2, 48, 44.7, 46.9, 42.4. ,tw;wpd; tPr;R kw;Wk; tPr;Rf; 
nfOitf; fhz;f.  
Solution:  

 Let us arrange the given data in the ascending order. 
 42.4, 42.5, 43.2, 44.7, 45.8, 46.2, 46.9, 47.5, 48, 48.6, 49, 49.8, 50.5 
 From the given data, the largest value L= 50.5 and the smallest value S = 42.4 
     Range = L - S 



 
     = 50.5 - 42.4 = 8.1 

  The coefficient of range = 
50.5 42.4 8.1

50.5 42.4 92.9

L S

L S

 
 

 
 

     = 0.087 
 

6. The following table shows the marks obtained by 48 students in a Quiz 
competition in Mathematics. Calculate the standard deviation 

Data x 6 7 8 9 10 11 12 

Frequency f  3 6 9 13 8 5 4 
xU fzpj tpdhb tpdhg; Nghl;bapy; 48 khzth;fs; ngw;w kjpg;ngz;fs; 
gpd;tUk; ml;ltizapy; jug;gl;Ls;sd.  

kjpg;ngz;fs; x 6 7 8 9 10 11 12 
epfo;ntz;fs; f 3 6 9 13 8 5 4 

,t;tptuj;jpw;fhd jpl; tpyf;fj;ijf; fzf;fpLf.  
Solution:  
  Let us form the following table using the given data. 
 

x f fx d = x – x  
= x – 9  

fd fd2 

6 3 18 -3 -9 27 

7 6 42 -2 -12 24 

8 9 72 -1 -9 9 

9 13 117 0 0 0 

10 8 80 1 8 8 

11 5 55 2 10 20 

10 4 48 3 12 36 

 48f   432fx   0d   0fd   2 124fd   

 

Arithmetic mean,  
432

9
48

fx
x

f
  



 

Standard deviation, 
2fd

f
 




 

    = 
124

48
 

  2.58 1.61   

 
7.  Find the coefficient of variation of the following data. 18, 20, 15, 12, 25. 

18, 20, 15, 12, 25 vd;w tptuq;fSf;F khWghl;Lf; nfOitf; fhz;f.  
Solution:  



 
  Let us calculate the A.M of the given data. 

  A.M = 
12 15 18 20 25

5
x

   
  

   = 
90

18
5
  

  
x d = x - 18 d2 

12 -6 36 

15 -3 9 

18 0 0 

20 2 4 

25 7 49 

 0d   2 98d   

 
2

98

5

d

n
  

  

 = 19.6 4.428  

 The coefficient of variation = 100
x


  

   = 
4.428 442.8

100
18 18

   

 The coefficient of variation is 24.6 
  

5 Marks: 
 

1. The mean age of 15 teachers in a school is 42. The ages of the teachers are 35, 
42, 48, X, X+8, 40, 43, 50, 46, 50, 37, 32, 38, 41, 40 (in years). find the value of X 
and unknown ages of the two teachers?  
xU gs;spapYs;s 15 Mrphpah;fspd; ruhrhp taJ 42 MFk;. me;j 
Mrphpah;fspd; tajhdJ 35, 42, 48, X, X+8, 40, 43, 50, 46, 50, 37, 32, 38, 41, 40 
kw;Wk; 40 (Mz;Lfspy;) MFk; vdpy;> X ,d; kjpg;igf; fz;Lgpbj;J> 
Mrphpah;fspd; taJfisAk; fhz;f.  
 

2. Find the mode of the following data. 14, 15, 12, 14, 16, 15, 17, 13, 16, 16, 15, 12, 
16, 15, 13, 14, 15, 13, 15, 17, 15, 14, 18, 19, 12, 14, 15, 16, 15, 16, 13, 12.  
gpd;tUtdtw;wpw;F KfL fhz;f. 14, 15, 12, 14, 16, 15, 17, 13, 16, 16, 15, 12, 16, 
15, 13, 14, 15, 13, 15, 17, 15, 14, 18, 19, 12, 14, 15, 16, 15, 16, 13, 12.  
   

3. Create a collection of 12 observations with median 16.  
,ilepiyasT 16 cs;sthW 12 kjpg;Gfisf; nfhz;lj; njhFg;ig 
cUthf;fTk;.  



 
 

4. The average mark of 25 students was found to be 78.4. Later on, it was found 
that score of 96 was misread as 69. Find the correct mean of the marks.  
25 khzth;fspd; ruhrhp kjpg;ngz; 78.4 gpd;G 96 vd;w kjpg;ngz; 69 vd 
jtWjyhf vLf;fg;gl;Ls;sJ vd njhpate;jhy;> rhpahd ruhrhp kjpg;ngz; 
vd;d?  
 

7.5 Marks 
 

1. The number of televisions sold in each day of a week are 13, 8, 4, 9, 7, 12, 10. 
find its standard deviation.  
xU thuj;jpd; xt;nthU ehspYk; tpw;fg;gl;l njhiyf;fhl;rpg; ngl;bfspd; 
vz;zpf;if gpd;tUkhW 13, 8, 4, 9, 7, 12, 10. ,e;jj; jutpd; jpl;l tpyf;fk; 
fhz;f.  
 

2. Calculate the median for the following data:  
gpd;tUk; tptuq;fSf;F ,ilepiy fhz;f.  
 

Height (cm)  160 150 152 161 156 154 155 

No. of Students  12 8 4 4 3 3 7 
 

3. Find the mode for the following data. 
gpd;tUk; tptuq;fSf;F KfL fhz;f.  
Marks  1 – 5 6 - 10 11 - 15 16 – 20 21 – 25 

No.of students  7 10 16 32 24 

  
4. The EB bill(in ì) of each of the 26 houses in a village are given below. 

Construct the frequency table.  
xU fpuhkj;jpYs;s 26 tPLfspd; kpd;rhuf; fl;lzk; (ì ,y;) fPNof; 
nfhLf;fg;gl;Ls;sJ epfo;ntz; guty; ml;ltiziaj; jahh; nra;f.  
 
215 200 120 350 800 600 350 400 180 210 170 305 204 

220 425 540 315 640 700 790 340 586 660 785 290 300 

 
10 Mark  
 

1. The number of hours spent by a school student on various activities on a 
working day is given below. Construct a pie chart.  
 

Activity  Sleep School Play Home work Other 

No of hours  8 6 2 3 5 



 
1. Find the percentage of sleeping hours.  
2. By what angle is home work more then play? 
3. By what angle are other activities less than sleep?  
xU gs;sp khztd; xU Ntiy ehspy; ntt;NtW nray;fSf;fhfr; 
nrytplg;gl;l Neuq;fs; fPNo nfhLf;fg;gl;Ls;sd. mt;tpuq;fSf;F tl;l 
tpsf;fg;glk; tiuf.  
nray;fs;  J}f;fk; gs;sp tpisahl;L tPl;Lg; ghlk; kw;wit  
fhy msT  8 6 2 3 5 
1. J}q;Fk; fhy msTf;fhd rjtPjj;ijf; fhz;f.  
2. tpisahLtijf; fhl;bYk; tPl;Lg;ghlk; nra;tjw;F vt;tsT mjpff; 

Nfhzk; msT nrytplg;gLfpwJ? 
3. kw;w nray;fSf;Fr; nrytplg;gLk; NeukhdJ> J}f;fj;ij tpl vt;tsT 

Nfhzk; msT FiwT? 
 

2. Write any five points form the given pie chart information regarding 
pollutants entering in the oceans.  
flypy; khRfs; fyg;gJ gw;wpf; nfhLf;fg;gl;Ls;s tl;l tpsf;fg;glj;jpYs;s 
nra;jpfspypUe;J VNjDk; Ie;J fUj;Jfis vOJf.  

   
 

3. The consumption of number of guava and orange on a particular week by a 
family are given below.  

Number of Guavas 3 5 6 4 3 5 4 

Number of Oranges  1 3 7 9 2 6 2 

Which fruit is consistently consumed by the family? 
xU FLk;gj;jpy; Fwpg;gpl;l thuj;jpy; cl;nfhs;sg;gl;l nfha;ah kw;Wk; MuQ;R 
goq;fspd; vz;zpf;iffs; fPNo nfhLf;fg;gl;Ls;sJ. 
nfha;ahg; goq;fspd; 
vz;zpf;if  

3 5 6 4 3 5 4 

MuQ;R goq;fspd; 
vz;zpf;if  

1 3 7 9 2 6 2 

,q;F> ve;j gok; rPuhf vLj;Jf;nfhs;sg;gl;lJ?  
 



 
4. Find the range, variance, co-efficient variation of 24, 26, 33, 37, 29, 31.  

24, 26, 33, 37, 29, 31 vd;w tptuq;fSf;F tPr;R> tpyf;f th;f;f ruhrhp> 
khWghl;Lf; nfO fhz;f.  

 
15 Marks  
 

1. The monthly salary of 10 employees in a factory are given below.  
ì 5000, ì  7000, ì  5000, ì  7000, ì 8000, ì  7000, ì  7000, ì  7000, ì  8000, ì  7000, ì  
5000  
Find the mean, median and mode.  
xU njhopw;rhiyapy; 10 Ntiy Ml;fspd; Cjpaq;fs; KiwNa ì 5000, ì  
7000, ì  5000, ì  7000, ì 8000, ì  7000, ì  7000, ì  7000, ì  8000, ì  7000, ì  5000  
vdpy; ,tw;wpd; $l;L ruhrhp> ,ilepiy> KfL fhz;f.  
 

2. The following table gives the number of literate females in the age group 10 
to 45 years in a town.  
xU efuj;jpy; 10 Kjy; 45 taJ tiuAs;s gbj;j ngz;fspd; vz;zpf;if 
fPo;f;fhZk; ml;ltizapy; nfhLf;fg;gl;Ls;sJ.  
 

Age group 10-15 16-21 22-27 28-33 34-39 40-45 

No. of females 350 920 850 480 230 200 

Draw a histogram to represent the above data  
Nkw;fhZk; juTfSf;F epfo;Tr; nrt;tfk; tiuf.  
 

3. The marks obtained by 50 students in Mathematics are given below (i) Make 
a frequency distribution table taking a class size of 10 marks (ii) Draw a 
histogram and a frequency polygon.  
50 khzth;fspd; fzpj kjpg;ngz;fs; fPNof; nfhLf;fg;gl;Ls;sJ.  
1. gphpT msT 10 kjpg;ngz;fs; vd vLj;Jf;nfhz;L epfo;ntz; guty; 

ml;ltiziaj; jahh; nra;f.  
2. epfo;r; nrt;tfk; kw;Wk; epfo;Tg; gy Nfhzk; tiuf.  

 

52 33 56 52 44 59 47 61 49 61 

47 52 67 39 89 57 64 58 63 65 

32 64 50 54 42 48 22 37 59 63 

36 35 48 48 55 62 74 43 41 51 

08 71 30 18 43 28 20 40 58 49 

 
4. The mean and the standard deviation of a group of 20 items was found to be 

40 and 15 respectively. While checking it was found that an item 43 was 
wrongly written as 53.   



 
Calculate the correct mean and standard deviation. 
xU Gs;sp tptuj;jpy; 20 kjpg;Gfspd; $l;Lr; ruhrhp kw;Wk; jpl;l tpyf;fk; 
KiwNa 40 kw;Wk; 15 vd fzf;fplg;gl;ld. mitfisr; rhpghh;f;Fk;NghJ 43 
vd;w kjpg;G jtWjyhf 53 vd vOjg;gl;lJ njhpa te;jJ. mt;tptuj;jpd; 
rhpahd $l;Lr; ruhrhp kw;Wk; rhpahd jpl;l tpyf;fk; Mfpatw;iwf; fhz;f.  
 

5. Following are the runs scored by two batsmen in 5 cricket matches. Who is 
more consistent in scoring runs. 

Batsman A  38 47 34 18 33 

Batsman B  37 35 41 27 35 

 
5 fphpf;nfl; tpisahl;Lg; Nghl;bfspy; ,uz;L kl;il tPuh;fs; vLj;j Xl;lq;fs; 
(runs) gpd;tUkhW. mth;fspy; xl;lq;fs; vLg;gjpy; ahh; mjpf rPh;ikj; jd;ik 
cilath;?  

kl;il tPuh; A  38 47 34 18 33 

kl;il tPuh; B  37 35 41 27 35 

 
BASE SYSTEM :  
 

1. Convert 3510 to base 2. 
3510 I ,uz;lbkhd vz;zhf khw;W.  
 

2. Convert 11100112 to base 10. 
11100112 I gj;jbkhd vz;zhf khw;W. 
 

3. Convert 62410 to base 5. 
62410 I Ie;jbkhd vz;zhf khw;W. 
  

4. Convert 789310 to base 8 
789310 I vl;lbkhd vz;zhf khw;W. 
 
 


